SPH4U

Errata Nelson Physics 12 Chapter 3

Section 3.1 — Review #8 — pg. 113 (explanation for answer)
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8. (a) Given: m; = 1/8 kg; my = 1.2 kg; my= 1.2 kg; Fx=70.0N Tension Folee |,
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Analysis: Since mass 1 does not slide, the acceleration due to thé horizontal force must balance
the acceleration due to the tension, which equals m,g. Use F =ﬁna to determine the acceleration.
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Statement: The applied force is 39 N.




SPH4U

Section 3.3 — Review #11 — pg. 119 (strange answer)

11. (a) Given: a. =711 m/s>; r=121m
Required: v

vl
Analysis: a =—; v=,/ar

r

Solution: v= ar

. 2
,J(?llm/b )(1.21 m) vl = 29.33m/
v=29.3m/s
Statement: The speed of the hammer is 29.3 m/s.
(b) Given: Ad=-2.0 m; v;=29.3 m/s; = 42°
Required: Ad,
Analysis: Use v = v + 2aAd to calculate the y-component of the final speed, then calculate the

time of flight v¢ = v; + aAt. Finally, calculate the range using Ad = vAt. q”'q‘rh
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Section 3.3 — Review #1 — pg. 124 (correct steps)

Section 3.3 Questions, page 124
1.Given: d=24morr=12m; Fpet = %Fg
Required: v

2

Analysis: F = il s Fg=mg; Fpa=Fc+ F
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Solution: v= "—%gr

= \/_%(-9.8 m/s’)(12 m)

v=28.9 m/s
Statement: The speed of the roller coaster is 8.9 m/s.
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Section 3.3 — Review #2 (b) — pg. 124 (incorrect answer)

(b) Given: m =1000.0 kg; r =40.0 m; v= 15 m/s -

Fea
Required: Fy
P F_mvz.F_ . -
nalysis: F = G mg; :c;;ﬁ,p,\)
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Statement: The magnitude of the normal force is 1.5 x 10* N. ik 4
(¢) Given: m=1000.0 kg; r=40.0 m; v=15m/s; Fpet =0 Feel \’>h ol »
Required: v the top
2
Analysis: F;=ﬂ;Fg=mg )
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Solution: v =4/—gr - e
= \/—(—9.8 m/SZ)(40.0 m) Vo j .j_ B
v=20 m/s

Statement: The speed required to make the driver feel weightless is 20 m/s.
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Section 3.4 — Practice #3 — pg.129 (alternate solution shown below)

3. Given: g = 10.00 m/s’; ane;=9.70 m/s%; r = 6.2 x 10°m
Required: T

. 4n’r . A . .
Analysis: a_= ?; the centripetal acceleration is the difference between the acceleration due

to gravity and the net acceleration experienced by a falling object.
.. A Similal 4o question HH £y 130
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Statement: The length of the day, or period of the planet, is 7.9 h.
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Section 3.4 — Review #3 (d) — pg. 130 (full steps)
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Chapter 3 — Review #44 — pg. 143 (some textbooks are missing the radius values)
String A radius =4.00 m
String B radius =2.00 m

44. Two masses are tied together by strings as shown in
Figure 7 and swung around in a horizontal circle
with a period of 2.00 s on a frictionless surface.
Mass 1 is 3.00 kg, and mass 2 is 5.00 kg. Determine
the tension in each string. (3.3)
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Figure 7



